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Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Many Sanskrit works
on music were translated into Persian
during the medieval period.

Reason (R) : The early chisti sufis were
fond of musical assemblies called,
‘sama’.

Select the correct answer from the
codes given below :

Codes :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(c) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

Which of the following inscriptions gives
the information about two Ashwamedha
Yajnas performed by the King Pushyamitra
Shung ?

(a) Saranath inscription

(b) Besnagar inscription

(c) Ayodhya inscription

(d) Hathigumpha inscription

The term ‘chakla’ has been used in

Medieval Indian History sources. This

was

(a) ldentical to Paragnah

(b) Identical to Sarkar

(c) Territorial unit between Subah
and Paragnah, but not identical to
Sarkar

(d) None of the above

192

O AR

1. fRArw RuTTE | T H wH (A)ésm

aﬁaﬁwm)ww% |

HUA (A) . TeeRTel B T T Ehd H ol

118 7 IR 1 T H e TRl TR |
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T, TS T el ST o, 3 e o |
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T (R) U (A) T AR |
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(d) A (A) TTETd &, g T (R) W E |
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It & ST R orE @ fed 7
(a) TRATY T
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(d) Sufeifga & & i3 +ff e
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Place Leadership
(@) Sambhalpur Surender Sahi
~ (b) Ganjam Radhakrishna
Dandsena
(c) Kashmir Gulab Singh
(d) Lucknow Liyagat Ali

T
5

The Maratha claim of revenue for
protection is known by what name ?
(a) Sardesh Mukhi (b) Chauth

(c) Abwab (d) Jamadani

The mosque-the Khayr-ul-manzil
opposite to the Purana Qila in Delhi was
constituted by whom ?

(@) Hamida Banu Begum
(b) Salima Sultan

(c) Jiji Anga

(d) Maham Anaga

Which of the following pairs is NOT
correctly matched ?

Which of the following pairs is NOT
correctly matched ?

State Ruler
(@) Devgiri Shankar Dev
(b) Warangal Ramchandra
Dev
(c) Hoysal Veer Ballal
(d) Madura Veer Pandya

Arrange the following into chronological
order and select the correct answer
from the codes given below :

A. Muhammad Shah

B. Jahandar Shah

C. Alamgir lI
D. Ahmadshah
Codes :

@ A CD B
(b} B: A D C
ey C A B D
(d D B Cc A
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g 5 R st e 5 )

MRS R 7

(a) TEW (b) =Ny
(i) av{ar?:rra]g@ﬁ (d) SHIEHT
. oot 3 gue e % T Sver vy
A AiESTE 1 Fmfor Ree samr o ?
(a) THYeT o ST
(b) wﬂmw
(c) Sftsft afm
(d) HTEH T
ﬁﬁ%@a@ﬁﬁﬁqaﬁgﬁ%ﬁﬁ%?
T g
(a) E9ER G e
(b) TS TETHT FUEEAT
(c) IR NRICRTH
(d) TET INRIET R
ﬁmﬁ«rﬁaag:ﬁﬁﬁwﬁgﬁ%aﬁ%?
TamEa . VI
(a) <afid I
(b) T THe5 3
(c) BEEa ERERNIR
(d) Agu R e
ﬁw%ﬁaaﬁmﬁwa@aﬁﬁq
IR A= A R w2 § T 3w o =
FHifeg |
A. TEETE 3R
B. SEIER I8
C. 3THIR I
D. 3189 ¥I1E
He
Ay A €D B
() B AD C
(c)€ A B D
(@D B Cc A
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10.

gl

12:

13.

14,

Which of the following States of India
has the longest coastline ?

(@) Maharashtra

(b) Andhra Pradesh

(c) Kerala

(d) Gujarat

Which of the following rivers of

. Uttar Pradesh has been declared a

‘Biological Disaster due to environmental

pollution ?
(@) Yamuna (b) Gomati
(c) Sai (d) Tamsa

in which of the following hills the world
famous temple of Lord Venkateshwar
(Tirupati) is located ?

(@) Shevaroy (b) Biligiriranga
(c) Javadhee (d) Malimalla

Rajasthan desert or Thar desert is the
expanse of which of the following ?

(@) Pliocene

(b) Paleocene

(c) Pleistocene and recent deposits
(d) Oligocene

Which of the following rivers of India
does NOT originate from the Western
Ghats ?

(a) Godavari
(c) Kaveri

(b) Tapti/Tapi
(d) Kabam

The development of the concept of
‘Global Village’ is based on

(a) Social development

(b) Political development

(c) Transport and Communication
Development

International organisations

(d)

-4-

10.

11

12

13.

14.

[ »

1 3 FreforRad s o @ fereehl qetan
g Al B ?

(a) ARG

(b) ITFY Y

(c)

(d) Tsd

TR TRy 1 FEfaRad it § s
e SO 3 T Stefieh ST =
AR ? '

(a) I (b) Tl

(c) &% (d) mE

v g e Seevar (ferufar) s A
Srefiad e § fored safem e ?
(a) e (b) feehfitm

(c) el (d) TecHed

ST T ST S et e eI
A fereer faear g ?

(a) ATSTTEH

(b) AfeErE

(c) A Ta Al s

(d) STfFTEE

T ) FrerfaRaa Afedi § s afe=rl ome
3 7l Freperci ® 7

(@) Tirered (b) Qe /ardl

(c) (d) HeH

R T ) TR o T ST &
(a) GRS forshr

(b) TrsHferh forehrdl

(c) Ufae Td TR 1 forhtd

(d) ST TS
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15.

16.

17.

Which of the following countries has the
maximum production of milk per cow ?
(@) Netherlands (b) Great Britain
(c) Denmark (d) India

Which of the following districts of Uttar
Pradesh has the lowest female literacy
rate as per 2011 census ?

(a) Rampur (b) Balrampur

(c) Shrawasti (d) Bahraich

The Sultana, Gulabi and Kali Champa
varieties in different regions of India are
varieties of which of the following major
fruits ?

(@) Custard Apple (b) Orange

(c) Guava (d) Grapes

Which of the following States is the
largest producer of cardamom and
pepper in India ?
(@) Tamil Nadu
(c) Kerala

(b) Goa
(d) Maharashtra

Match List— I and List— Il and select the
correct answer using the codes given
below the list :

List -1 List—1I
States Highest Peak
A. Kerala 1. Dodda Betta
B. Nagaland 2. Nand Devi
C. Uttarakhand 3. Anai Mudi
D. Tamil Nadu 4. Saramati
Codes :
A B C D
(a) 1 3 4 2
(bj 2= 3--4 1
€y 38 4. > 1
(d) 1 2 gk

15.

16.

17.

18.

19.
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Freferfem =it & fred ufs e g
(a) fiwelvgs (b
(c) =9k (d) 9Rd
2011 I SIFIUMT % STHR W T2 &
Ffafaa sHuet & fredl wfve wear
T GT FH R ?

(a) THYX (b) sTERHYX
(c) smert (d) sUE"
TR < foifvret &t & Seqrfee geam, Termsh
ST ket = foreferRaa e et 3 o
Hfrai g ?
(a) IRI® (b) G
(c) e (d) 3R
FefaRaa wsai § $9 samsh wE e
o 1 oo wreT ST R 7
(a) dftreTg (b) T
(c) & (d) HERT
Tt - 1 3R T - 115 e il af
Tl o = o2 T g & v s H =
Fifsg|

T - -1l

T o e e
A ¥ 1. g
B. ATTRIvE 2. F=1eh
C. IS 3. IR R
D. dftreTg 4. GRMfd
%c:

AL B € D
(@) 1 3 4 2
By 2. 3. 4 3
3 4 o 1
@it oo w3 g
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20. Which of the following countries is the
leading producer of lodine in the world ?
(@) Japan (b) U.S.A.
(c) Chile (d) China

21.. According to 2011 census, which of the
following states has the lowest child
sex-ratio both in Rural and Urban areas ?
(a) Uttar Pradesh
(b) Kerala
(c) Haryana
(d) Jammu and Kashmir

22. According to 2011 census, which of the
following states has the largest rural
population ?

(a) Madhya Pradesh
(b) Maharashtra

(c) Punjab

(d) Uttar Pradesh

23. Consider the following events.
1. First reptiles
2. Firstinsects
3. Shelled animals
4. First mammals.

Arrange the above events in
Chronological order of their origin on
the earth and select the correct answer
from the codes given below :

Codes :
(@ 2
(b) 2
(c) 3
d) 2

AN WO =
— - = W
W s~ D

20.

21.

22;

23.

IIII|||||IIIII|I||I|IIlIIIlIIIIIlIIIII_IﬂlIII 2
N

Prfiifad it & -1 faga o STREH
T STTOf) IedTeeh & ¢
(a) S (b) . T IR
(c) Tereft (d) =M

05011 I SFRTUMT & IR, =l
Tt 3§ fret mefior wd wred G & A
Ty fom argoma =gan @ 7

(a) ST I

(b) A

(c) =REmm

(d) S T HHR

0011 1 SFITUT 3 STTER FreferRad T
F  forgehy mefior SEE Tt © ¢
(@) e Y&
(b) HEWIS
(c) USTE
(d) ST
ﬁmmaﬁmﬁw@rﬁmz
1. vEa w9
2. UEAIhIE

3. SHEdT Sid
4, IR T

RS TER SRl )
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28.

29.

30.

24.

25.

26.

IO O

‘Saving energy and other resources for
the future without sacrificing people’s
comfort in the present’ is the definition
of which of the following concepts ?
(@) Economic growth

(b) Economic development

(c) Sustainable development

(d) Human development

World Population Day is observed on
(@ 11 July (b) 8 May
() 5June (d) 16 October

Which of the following fixes the poverty
line in India ?
(a) Central Council of Ministers
(b) Lok Sabha
(c) Rajya Sabha
(d) Planning Commission
(Now Niti Ayog)

Which of the following States ranks first
in India in length of roads ?

(@) Maharashtra

(b) Uttar Pradesh

(c) Madhya Pradesh

(d) Rajasthan

Direct Tax Code in India is related to
which of the following ?

(a) Sales Tax (b) Income Tax
(c) Excise Tax (d) Service Tax

The Headquarters of the ‘Green Peace
International’ is located at

(@) Amsterdam (b) Canberra

(c) Ottawa (d) Nagasaki

ABC Index announced by the
Government of India is associated with
which of the following ?

(@) Agriculture

(b) Communication

(c) Health

(d) Education

25.

26.

27,

28.

29

30.
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ﬁwﬁﬁ'% ?ﬁﬂq W & TRYef Y@ et ety
FATR |
(a) =19 oefived
(E‘) SIEX:E
(c) TsT 94
(d) AT I
(31er fifer s7rm)
FerferRe et § 9 wewt 6 e i
A B I YREH [ R 7
(
b)
(c) TET yewr
(d) TSRYM

WA 8 T8 W e fiefeied 3 frad
TfRa g ?

(a) Tershl ot (b) T H

(c) 3R (d) FaET

i e Sexieer’ % e o @

(@) THeERE (b)) Few

(c) 3erard (d) ArTETERY A
A R 3R Uia ‘T & 39y
Frfofaa § fred afRE 2 7

() P

(b) HER

(c) wWreey

(d) ferem
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31.

32.

33.

34.

35.

36.

37.

i

According to the UN Department
of Economic and Social Affairs
(UN-DESA) what percentage of world’s
total population is currently living in
urban areas ?
(@) 25

(c) 45

(b) 35
(d) 55

Which among the following is the
secondary pollutant ?

(@) Smog

(b) Carbondioxide

(c) Carbon mono-oxide

(d) Flyash

In which of the following ecosystems the
species diversity is relatively higher ?
(@) Deep sea

(b) Tropical rain forest

(c) Coral reefs

(d) Desert

Which of the following is NOT obtained
from insects ?
(a) Silk
(c) Lac

(b) Honey
(d) Pearl

Which of the following represents the
decibel level of rustling of tree leaves
in normal circumstance ?

(@) 10db (b) 20db

(c) 60db (d) 100 db

United Nations Conference on climate
change, COP21 was held in

(@) Moscow (b) Paris

(c) Berlin (d) Tokyo

When was India’s first National Action
Plan on Climate Change released ?
(@) 2000 (b) 2008

(c) 2012 (d) 2015

31.

32.

33.

34.

35.

36.

37.

O O
Tyt g 3 SR T AT T
59T (UN-DESA) o T8 fora 1 et
e S e ST e & |
@ g ?
(a) 25 (b) 35
(c) 45 (d) 55

frferiaa & $ T Jgh & 7

ﬁn%r@aﬁ@qvﬁﬁ@rmaﬂﬁm%?
(a) WH (b) WE&
(c) @rd (d) =t
Srerfifaa 3 s g aRie § ga
Sﬁmméﬁaﬁwuﬁhm

(@) 10db
(c) 60db

(b) 20db
(d) 100db

mmmmﬁwmmﬁ
ST el ehTTad <ht TR off 7

(a) 2000 (b) 2008 H

(c) 20127 (d) 2015#
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38.

39.

40.

41.

42.

43.

Which is the most stable ecosystem ?
(@) Marine (ocean)

- (b) Forest

(c) Mountain
(d) Desert

Incinerators are used for which of the
following ?

(a) Burning wastes

(b) Putting wastes into them

(c) For cutting green trees

(d) For making fertilizers

What is ‘Green House Effect’?

(@) Increase in global temperature

(b) Decrease in global temperature

(c) Increase in sea water temperature

(d) Increase in temperature of rivers
and lakes

Which of the following is the main
component of the natural gas ?

(a) Ethane

(b) Butane

(c) Carbon mono-oxide

(d) Methane

Which pain killer given to cattle is
responsible for near extinction of
vultures in India ?

(a) Ibuprofen

(b) Acetaminophen

(c) Asprin

(d) Diclofenac

Which of the following countries was the
largest emitter of CO, in 2015 ?

(a) China (b) U.S.A.

(¢) India (d) France

38.

39.

40.

41.

42.

43.
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44. Which of the following statements are
true ?
1. Natural disasters cause maximum
damage in developing countries.
2. Bhopal gas tragedy was man-made.
3. India is a disaster free country.
4. Mangroves reduce the impact of
cyclones.

Select the correct answer from the
codes given below :

Codes :
(@) 1,2and 3 (b) 2,3and 4
(c) 1,2and 4 (d) 1,3and 4

Which of the following has the highest
velocity ?

(@) Cosmic rays

(b) Light

(c) Electron

(d) Supersonic wave

45.

46. Graphene is
(@) An alloy of carbon
(b) Nano structure of carbon
(c) Isotope of carbon

(d) None of the above

47. The sound will have highest velocity in
3 (@) Vacuum (b) Air
(c) Water (d) Steel

48. A powerful eye irritant in the smoke is

(a) Ozone

(b) Sulphur dioxide

(c) Carbon dioxide

(d) Peroxyacetyle nitrate

The book ‘A Brief History of Time’ has
been written by whom ?

(a) Stephen Hawking

(b) J.V. Narlikar

(c) C.V.Raman
(d) S.Bose

49.

44, FAdAPI-AFATE R ?

45.

46.

47.

48.

49.

() . oft. Al g

T

1. WeHfcrh SIS Haiiere afet foremmaefiet
a1t & et 7

o, wurel TG ATEd T - o

3. 9d AUET-Th < 3

4. Na TaTdl o1 IHTE FH L B
Hre fer i # @ w9 SW T

%e
(@) 1,293  (b) 2,374
(c) 1,2da4  (d) 1,374

FrafRaa 3§ forgen an fteRm BT ?
(a) TG TRl

(b) ST

(c) FeFH

(d) RTEAfTR T

gt 3 SAial i e A el SHH-a1
SR STST BT & ¢
(a) SISIE]

(b) TEH STZIATHLE
(c) THIeH STEATFRS
(d) SRTETCEIERS TeE

s feell 317 2| ! e frem
etz ? | e

(a) THA R g

(c) ®.f, T EI
(d) TE. 99 g
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51.

52.

53.

54.
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50. Which of the following is the richest

source of Vitamin C ?
(@) Orange (b) Apple
(c) Carrot (d) Amla

Which of the following planets may be
suitable for existence of life ?

(@) Mars (b) Mercury

(¢) Venus (d) Jupitor

Einstein was award Nobel Prize for of
his theories

(@) Theory of relativity

(b) Theory of photo electricity

(c) Theory of specific heats

(d) Theory of Brounian motion

Which of the following energy sources
produces NO atmospheric pollution ?
(@) Nuclear energy

(b) Solar energy

(c) Petroleum energy

(d) Coal energy

The Directive Principles of State Policy
may be-classified in to which of the
following parts for the sake of convenient
study ? ‘

(@) Socialist

(b) Liberal intellectualistic

(c) Gandhian

(d) All of the above

Which of the following was called
as Economic cabinet of India by
Ashok Chandra ?

(@) Planning Commission -

(b) Finance Commission

(c) Central Cabinet

(d) Administrative Reform Commission
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56.

57.

58.

959

60.

61.

Who was the Chief Justice of India when
Public Interest litigation was introduced
in the Indian Judicial system ?

(@) M. Hidayatulllah

(b)  A.M. Ahmedi

(c) P.N.Bhagwati

(d) A.S. Anand

Who is the author of the book “The
Accidental Prime Minister” ?

(a) Rajdeep Sardesai

(b) Karan Thapar

(c) Kuldeep Nayar

(d) Sanjaya Baru

Mention the correct date of the last
meeting of the Constituent Assembly
of India.

(a) 26 Nov. 1949 (b) 5 Dec. 1949
(c) 24 Jan.1950 (d) 25 Jan. 1950

Which of the following CAN NOT be
dissolved but abolished ?

(a) House of People

(b) Council of State

(c) Legislative Assembly

(d) Legislative Council

When did the Government of India
establish the independent Ministry for
“Women and Child Development’ ?

(@) 1985 (b) 1986

e} 1987 (d) 1988

What can be the maximum representation
from the Union Territories to the Lok
Sabha ?

(a) 15

(b) 20

(c): 25

(d) None of the above

56.

5.

58.

59

60.

61.
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(a) ATHEHT

(b) TST T

(c) Taam &

(d) faum gt

T T B ‘R wE A
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(a) 1985 (b) 1986

(c) 1987 (d) 1988

s @1 T g A S Rl Halfeeh
yfafrfiea fora 81 wshaT © 7

(a) 15

(b) 20

(e) 25

(d) ST & VIS /I -




65.

66.

67.

68.

63.

64.

OO

How many teams participated in FIFA
World Cup organised in Russia from
14 June — 15 July 2018 ?
(a) 32 (b) 34
(c). 36 (d) 30

In which of the following countries did
Prime Minister Modi start ‘Ramayana

- Circuit’ on May 11, 2018 ?

(@) SriLanka
(c) Nepal

(b) Myanmar
(d) Indonesia

‘Purvanchal Express Way’ in Uttar
Pradesh will not pass through which of
the following cities ?

(a) Faizabad (b) Basti

(c) Azamgarh (d) Mau

According to United Nation’s E-Government
Index, 2018 India ranks at which place ?
(a) 9oth (b) 9sth
(c) 96t (d) 9gth

Which of the following States was in the
news for the outbreak of Nipah virus
disease in May-June, 2018 ?

(@) Bihar (b) Kerala

(c) Haryana (d) Gujarat

In which city the Indian National Digital
Library was dedicated to the nation in
June 2018 by Prakash Javadekar ?
(@) Bengaluru (b) Hyderabad

(c) Delhi (d) Chennai

What is the rank of India in the world as
per Global Peace Index (GPI), 2018 ?
(a) 136th (b) 137t
(c) 13sth (d) 134th
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63.

64.

65.

66.

67.

68.
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14578 15 IS 2018 7 & 1 STRRrg
BIT (FIFA) forear a0 & et et & 3
T foga ?
(a) 32
(c) 36

(b) 34

(d) 30
ferfeifaa ot o frad werm o 9 3
11718 2018 1 TR Wl 1 e
& ?

(a) e (b) TR

(c) Jura (d) SERRET

SR YN} ‘otae g ant’ fefiey
4 o R & 7 e ?

(a) FSETE (b) s

(c) TSI d) 9=

T g & ‘§-TTer i gashich, 2018 %
STTER A 1 HH—F1 T 2 7

(a) 90dT (b) 9547

(c) 96af (d) 99 df
frerferfaa ot & % mé-sm 2018 §
e s S % e % e =t
a7 ?

(a) fsmr (b) A

(c) i (d) TSR

Wt T fefoes geaehrer @ 2018
ﬁmma%mm%awﬁwaﬁ
HHf o m ?

(a) STge (b) Yot

(c) faeett (d) =g
e wifa gerenie (Sfdfend), 2018 &
TR foree TR Bt - T R 7
(a) 136af (b) 137 af

(c) 1384t

(d) 1343f
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69.

70.

7l

72

73.

74.

15th Pravasi Bhartiya Diwas in January | 69.

2019 will be held in which city ?
(b) Vadodara
(d) Pune

(@) Varanasi
(c) Jaipur

From 41 July 2018 the Minimum Support | 70

Price (MSP) during 2018 — 19 for paddy
per quintal is :
(@) Rs. 1,550
(c) Rs. 1,750

(b) Rs. 1,650
(d) Rs. 1,950

Who among the following won the | 71.

Pakistan’s Parliamentary Elections in July
2018 and became the Prime Minister ?
(a) Nawaz Sharif (b) Imran Khan
(c) Bilawal Bhutto (d) Reham Khan

Who among the following won the 42

Magsaysay Award, 2018 ?
(a) Bharat Vatwani

(b) Sonam Wangchuk
Both (a) and (b)

None of the above

()
(d)
The 10t ‘BRICS’ Summit 2018 was held
in which of the following countries ?
(b) South Africa
(d) China

(a) Brazil
(c) Russia

Which of the following is a Samhita of
Shukla Yajurveda ?

(@) Vaja‘sanam‘i (b) Maitrayani
(c) Taittiriya (d) Kathak

-14-

forg Trex I smrRnfRTa grm ?

73.

74.

O T A

<
159 v TR feE sHedt 2019 |

(a) SR H (b) TR H
(c) SERH @ T
4 TS 2018 ¥ H 1 Hfel paaet =i

Fofid gea (ToaE ) 2018 - 19 %
UERS

(a) %. 1,550 (b) %. 1,650

(c) ® 1,750 (d) %. 1,950
SreferRad 3 fFe SaTE 2018 H ATishEH
émém‘\aamasﬂmaﬂwumﬁsﬁam?
(a) TSIE (b)) THHEH

() FemEa g (d) WHEH

e 3 & fra o 2018 % HHE GEERT
Sfrar ¢

(a) STRA Feart

(b) EFH ST

(c) I (a) 3R (b)

(d) STk F IS TR

T ‘e’ (BRICS) firar @iier 2018
Frferiaa i T Smnfer ferm mn ¢
(a) TS (b) <faror afdeen
(c) &1 (d) =M
frefifed § @ #4 F a9 < ERd
&7

(a) ITSTEATH OR:ERU

(c) axl™ (d) H13h
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75. Given below are two statements, one is

76.

77:

b

labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Turkish invasions on
India were successful.

Reason (R) : There was no political
unity in North India.

Select the correct answer from the
codes given below :

Codes :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A)
Both (A) and (R) are true, but (R)is
not the correct explanation of (A)
(A) is true, but (R) is false

(A) is false, but (R) is true

(b)

Arrange the following temples in a
chronological order and select the correct
answer from the codes given below :

I. Brihdishwar temple

Il. Gangaikonda cholapuram temple
lll. Shore temple of Mahabalipuram
IV. Sapt pagoda

Codes :

@ 1, I, Iv, Il
b) I, 1, 1, IV
© I, I, 1, IV
(d) IV, 1, 1, 1

The inscription of Hathigumpha is the
source of information about which king ?
(@) Kharvela

(b) Ashok

(c) Harshavardhan

(d) Kanishka

-15-
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75. i 3t sher faw e & ol weh o e (A)

76.

T8

{ T—

qT TH <h! SHRVT (R) 8T TR |

A (A) : TG T Gehl SATHAT T B |
SRRUT (R) : 3T YR T TS feieh Tehelt 1t
ot |

< fou 2l & & ot 3 o1 = i |
RE: '
(a) e (A) TATHRYT (R) ST Tt & o

HR (R) A (A) hl T == 2

(b) = (A) T HIT (R) S @) & g
FRT (R) U (A) hi =Imen 78 @

(c) e (A) Tt 7, fohg 1T (R) 7ot 2
(d) 3 (A) eI 7, Tohg R (R) T &

=1 wfel ht hregen § rafe fifvo
aﬂiaﬁ%‘rﬁqiaﬁﬁwﬁwiﬁm
|. SediveRr Hfe
Il TeRIUE SeATqE i
lIl. RIS T 99 Hie
IV. H= YireT

%

(Y R | A VAR ]
(b) 1, 1, 1, v
() m, n, 1, v
(d) Iv, 1L, 1, 1

TR 1 srfirere T v & ey
T TH 7 Eq 8 7

(a) WRAdA

(b) 3TN

(c) w¥aeq

(d) HfTw=h
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78. Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).
Assertion (A) : In 1946, the Muslim
League withdrew its acceptance of the
Cabinet Mission Plan.
Reason (R) : The Muslim League
joined the interim government formed
in 1946.
Select the correct answer from the
codes given below :
Codes :
(a) Both (A) and (R) are true and (R)
is the correct explanation of (A).
Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
() (A)is true, but (R) is false.
(d) (A)is false, but (R) is true.

(b)

LR ORI -

3
78, S RO TeE | T R (A) @
ZE i BT (R) e TR |
T (A) : 1946 T g i 7 “HisHe
e v 3 forg € g STt wefiepid e
e et |
WHROT (R) : 1946 T 7fed AT HEHR
3 gfeem o e gs o |
= Ry el # ¥t ST |
%c:
(a) M (A) AT HTT (R) S Hel & 4T
ST (R) F (A) ) T AL |
(b) T (A) T T (R) B G g
HT (R) T (A) I =T T R |
() T (A) HEI R, TG hRUT (R) TeTq © |
(d) R (A) Tt &, Tg RO (R) T T |

79. Which among the following sites | 79. Ffafag T § v T AEI9TEor S
provides evidence of domestication of ﬁqﬂ T S ST e E 7
animals in the Mesolithic period ?
() Odai (b) Bori (a) (b)
(c) Bagor (d) Lakhnia (c) SR (d) <T@

80." Which of the following pairs is NOT | 80. ﬁm‘%{'\@a?ﬁﬁaﬂqgﬁgﬁmﬁ%?
correctly matched ? (@) o TR 5 Il'l‘§
(a) Adina Masjid — Mandu
(b) Lal Darwaza Masjid — Jaunpur (b) AT SIS AT W
(c) Dakhil Darwaza  — Gaour (c) TRad @S - TS
(d) Tin Darwaza — Ahmedabad () T ST _ IEEET

81. Which |of the ;ol(;o'\?n'/ing pairs is NOT | g1, feffad gl o 1 w2 gofer e @ 7
c(::)rregt]srlur\?:;(;se_ éhagat Namawali (E)IRET = AT
(b) Nabhadas — Bhaktamal (b) TTHIGH - SeRqHICT
(c) Raskhan — Rasik Priya (c) @M - s TS
(d) Usman — Chitrawali (d) 3 - CPIERI

D -16-
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83.

84.

85.

82. Arrange the following events in their

chronological order and select the
correct answer from the codes given
below :

A. Hunter Commission

B. Sadlar Commission

C. Wood’s Despatch

D. Sargeant Plan

Codes :
(@ A B
b€ B
(g A B
(d) C

® > 0
O OO

A< B D

Who among the following leaders founded
the revolutionary organization — ‘Abhinav
Bharat Society’ ?

(a) Bhagat Singh

(b) Vinayak Damodar Savarkar

(c) Barindra Kumar Ghosh

(d) Pulin Bihari

Which of the following pairs is NOT
correctly matched ?

Rebellion Year
(a) Santhal 1855
(b) Kol 1831
(c) Khasi 1829
(d) Ahom 1815

Which of the following is the highest
waterfall in India ?

(a) Jog fall

(b) Kunchikal fall

(c) Rakim Kund fall

(d) Kevtifall

17
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82. frafafed weaietl #1 e aman

83.

84.

85.

e HIfY 3R A2 o 7 52 & w
3T T T T |

A. T MM

B. WSR3

feferied 3t & % ad g i 7

fosie L
(a) 9U 1855
(b) A 1831
(c) @ 1829
(d) 3Em 1815

frefafad & 19 wra &1 os@ S=1
S IR ?

(a) ST STef9gTa

(b) FeteheT STeTSUTd

(c) Ufrn Fue StervuTa

(d) Fafd SeyuTa
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o

86. ‘Vegetation is the true index of climate’.
This statement is associated with
(a) Thornthwaite (b) Koppen
(c) Trewartha (d) Stamp -

In which of the following countries is the
Pampas grasslands situated ?

(@) Argentina (b) Brazil

(c) Chile (d) Ecuador

87.

88. Which of the following pairs is NOT

correctly matched ? -

Desert
(a) Sonoran
(b) Taklamakan
(c) Karakum
(d) Gibson

Country

USA

China
Turkmenistan
Brazil

89. Arrange the following coffee producing
- countries in descending order of their
coffee production (2016, quantity) and
select the correct answer from the
codes given below :
A. Colombia
C. Brazil

B. Vietnam
D. Indonesia

Codes :

(@ D,C,B,A
(b) C,B,A,D
(c) B,D,C, A
(d) C,A,B,D

How much the maritime distance between
India and Europe was reduced after the
construction of the Suez Canal ?

(@) 5,000 km (b) 7,000 km

(c) 8,000 km (d) 10,000 km

90.

86.

87.

88.

89.

90.

.
X..

‘AR ST 1 TE g © | TE I
Tt ©

(a) oHeAE (b) A

(c) et (d) &=

FrerferRaa 3 & & foras we =8 1 BeH

feag?

(a) e (b) STSfA

(c) el (d) THSR

frefiRaa i 3 AF T gl T @ ?
TEEH L)

(@) THRA - .. e

(b) THATHRH - °H

(c) A - g™

(d) fisem - SN

FrefRaa iR 3cTeeh <l i 3k !

ITE (2016) (W) Y SRR FA H

rafeE &t 3= 3 T f @ T S

1 = W |

A. HIATET B. foaaam

C. SNia D. SENMRN

e :

(@) D,C,B,A

(b) C,B,A,D

(c) B,D,C,A

(d) C,AB,D

B T ¥ 77 T 3 T WA 3R

¥ wen gl o0 § et weft ol 2

(a) 5,000 f%.H. (b) 7,000 fe.H.

(c) 8,000f%.H. (d) 10,000 foh .
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92.

93.

94,

Arrange the following Indian Meteorological

Headquarters in Chronological order

of their establishment and select your

correct answer from the codes given

below :

A. New Delhi B. Kolkata

C. Shimla D. Pune

Codes :

@€ D A B

(b) B A D C

() D B ~.C A

@B € p A

Which of the following statements is

NOT correct ?

(a) Black soil is locally called ‘regur’

(b) According to Krabs the regur soil
is essentially a mature soil

(c) Black soils are highly retentive to
moisture

(d) Black soil is found in Himalayan
region

MacMohan line forms the boundary

between

(@) India and China

(b) India and Pakistan

(c) India and Myanmar

(d) India and Nepal

At the mouth of which of the following

rivers the ‘bird’s foot’ type delta is

formed ?

(@) Huang Ho (b) Nile

(c) Danube (d) Mississippi
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92.

93.

94.
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frefemeaa vt e e % s

TATYHT o HTATIHA § afeda i ik
A 7o T e ¥ o1 R I =
i |

A. % feeett B. hIcTehr

C. fmem D. gut

%c:

@€+ D A B

(B B- A" D G

e b B C.iA

B € DU A
FrefeiRea ot df PR w2 7

(a) et firgh <ht Tl s YR v
ST ® |

(b) 8 % ITAR IR A srfed e @
T gitgea firgh St & | ‘

(c) Il gt & et () ewRor
6! 359 SHAT B 2 |

' (d) hreft firdh e 3 FuRf s &

Aerwiter Y o Y s 2
(@) IRd @ 7 & &g

(b) ¥R TE wifehea™ & g
(c) ¥Rd Td WTRIR & ol
(d) 9RA W& U & g

Frreferfea el & e geit w “asft

T’ Y STHR AT Soe ST R 7
(a) MR (b) &
(d) ferefiferdt

(c) S==
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95.. Natural growth of population is the

96.

9%.

98.

99.

outcome of which of the following ?
A. Crude Birth Rate

B. Crude Death Rate

C. Migration

D. Marriages

Select the correct answer from the
codes given below :

Codes :
(@) Only A (b) Only C
(c) BandD ~(d) AandB

The Human Development Index (HDI)
was first developed by which of the
following ? ‘

(a) UNDP

(b) IMF

(c) UNICEF

(d) UNCTAD

Which of the following is the largest rural
employment programme in India 2

(a) MNREGA

(b) TRYSEM

(c) Work for food

(d) Skill Development Programme

Which of the following is measured by
the Lorenz curve ?

(a) MNiteracy

(b) Unemployment

(c) Population growth rate

(d) Inequality of Income

Which of the following States is ranked
economically at the top but the lowest
on the basis of sex-ratio ?

(a) Madhya Pradesh

(b) Maharashtra

(c) West Bengal

(d) Haryana

95.

96.

97.

98.

99.
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TN

i S T g B A free
o R 7

A. ITSNTE ST &

B. ITMEM Jg

C. WosH

D. foam

2 7MY 2 ¥ T I H T AT

=
(a) had A (b) e C

(c) B3R D (d) A3RB

7 3 ¥ foreeh g0 A foeE e
(HDI) TEger forenfra feman T ?

(a) LS9 T
(b) 3TTE.TH.TH. T
(c) s g
(d) 3RS T

fyefefaa § o 9a | TTHT TSR 0
Tl TSI FRFA T ¢

(a) =AM

(b) ZrEEH

(c) M % Sacl IS

(d) et e Rl

?ﬂ%@aﬁﬂq?ﬁiﬁfaﬁmw
? ;
(a) ARTET

(b) éflsj‘llﬂgﬁg

(c) SHEEAT =08

(d) 31 < fowwan

frfiRaa usl i shia sflen gfee & wed
géﬁ?%ﬂmﬁ%mmmﬁ%
(a) "I

(b) HEMIS

(c) Tfz=m s

(d) ®fmom
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100. Which of the following taxes is levied by

101.

102.

103.

104.

105.

the Gram Panchayats ?
(@) Sales Tax

(b) Land Revenue Tax
(c) Tax on Local Fairs
(d) None of the above

In India which of the following Five Year
Plans was launched with a focus on
sustainable growth ?

(a) oth (b) 1oth

(c) 11t (d) 12th

Which of the following cities in Uttar
Pradesh has NOT been selected for
development under the Smart City
Development Programme of the Central
Government ?
(@) Lucknow

(c) Ghaziabad

(b) Allahabad
(d) Kanpur

What is the current Total Fertility
Rate (TFR) of India according to the
National Family Health Survey (NFHS)
(2015 -16) ?
(@) 2.2
(c) 3.2

(b) 2.4
(d) 3.4

Which of the following committees was
set up in India for identification of BPL
families in Urban Areas ?

(@) Tendulkar Committee

(b) Saxena Committee

(c) Lakdawala Committee

(d) Hashim Committee

According to the India State of Forest
Report, 2017, what percentage of total
geographical area of the country is
under forest ?
(a) 20.34
(c) 21.54

(b) 22.34
(d) 23.54

GCTWY - 01

100. F=fefad 1 § SH-a1 9= um v=maet

101.

102.

103.

104.

105.
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B AT ST & 7

(a) foshi =

(b) ¥-TET T

(c) T I W

(d) I & g T

i # fr=fafed o aut gismmet &
forerer1 e &7 ‘gt gfy’ on 7
(a) 9di (b) 107

(c) 11 (d) 12 |
W YN & Freferfea 7 3 @ g =
& foreprar rlsrm 1 e 3 for 3w
TR G A FAT R ?

(a) TETS (b) 3G

(c) isTeg (d) FFE

TSR IRAR SR B0 (NFHS) (2015 - 16)
AR TATH F R Y A T X
(TFR) FT 2 ?

(@) 2.2 (b) 2.4

(c) 3.2 (d) 3.4 |
RA & T & § . d v, aRerR) &
S % fort FefiRea 3 3 -t aify
w%a;ﬁw% :

(a) ST

(b) TR |ty

(c) <Tehearen afyfy

(d) sRm wffy

3eA-Ve % wrwe A9 2017 &
IIER, o0 & FoA WA ST%a =i
ﬁﬁmaﬁsmima:ﬁamiwfa%?

(a) 20.34 (b) 22.34

(c) 21.54 (d) 23.54
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106.

107.

108.

109.

110.

111.

112.

113.

When was ‘Project Tiger’ launched in
India ?

(@) 1968
(c) 1984

(b) 1972
(d) 1993

Which of the following is an example of
anthropogenic biome ?

(a) Fresh water (b) Grassland

(c) Rainforest (d) Cropland

Which of the following animals can live
for the longest duration without drinking
water ?

(a) Giraffe
(c) Kangaroo

(b) Camel
(d) Kangaroo rat

India’s first National Centre for Marine
Biodiversity (NCMB) is located in which
city ?

(a) Bhavnagar
(c) Mumbai

(b) Jamnagar
(d) Puducherry

Dachigam National Park is associated
with which of the following ?

(@) Musk Deer

(b) Golden Oriole

(c) Yellow-throated Marten

(d) Hangul or Kashmir Stag

When the World Biodiversity Day is
observed ?

(@) March, 22
() June, 23

(b) May, 22
(d) April, 16

Which of the following is concerned with
soil ?

(a) Edaphic
(c) Biotic

(b) Climatic
(d) Topography

The maximum concentration of ozone
is found in which of the following ?

(a) Troposphere (b) Mesosphere
(c) Stratosphere (d) Exosphere

106.

107.

108.

109.

110.

111.

112.

113.
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TR 3 ST GRS e YIE ohi TR 7
(a) 19687H (b) 19727%H

(c) 1984 (d) 1993 %
Freafefaq & #1F TG ST 1 Th
JTEMR ?

(a) Seras (b) ©TE T HH
(c) i aH (d)
Frffaa & SR-1 Ser fomm o 91
e o) oTaf ok & HRAT © 7

(a) T (b) <

(c) wTE (d) e =-T
9d FT IIH TS 2T BT AT
TEeEard (.. . fra e d
fazg?  _ :

(a) WEFRH  (b) SEERHA

(c) =S H (d) gg=aH

i T o Frefafaa 3 @ el
grfRE R ?

(a) SRl

(b) TeeA ATEA

(c) I-%Ies AR

(d) T AT HIHR T

forga 39 fffrar feee e wARn ST S ?
(a) T, 22 (b) S, 22

(c) ¥, 23 (d) 1, 16
frafaRed § FF ge & Tt §

(a) 3= (b) FATEHEH

(c) smfesm (d) TR
frm 3 @ fred oS Y waiftes |iEan
fret? ?

() ihRRd (b)) HEEERRH

(c) WawhmH  (d) SRR
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115,

116.

147,

118.

119.

114. As a result of global warming the
frequency and severety of which of the
following are increasing due to global
warming ?

(@) Cyclones only

(b) Storms only

(c) Hurricanes only

(d) All of the above

Which of the following is NOT an example

of in-situ conservation strategy ?

(a) Biosphere reserve

(b) Botenical garden

(c) National Park

(d) Sacred groves

Ultra-violet radiation from sun light

causes the reaction that produce which

of the following ?

(a) CO

(b) SO,

(c) (O

(d) Fluorides

Norman Borlaug was given Nobel Prize

in which field ?

(@) Agriculture  (b) Economics

(c) Medicine (d) Peace

Which of the following paris is NOT

correctly matched ?

(@) Renneting-Cheese

(b) Genetic Engineering-Plasmids

(c) Golden rice-Vitamin A

(d) Ozone layer-Troposphere

Which of the following pairs is NOT

correctly matched ?

(@) Bandipur National Park-Kamataka

(b) Manas Wildlife Sanctuary-Assam

(c) Periyar Wildlife Sanctuary-Kerala

(d) Simlipal National Park-Madhya
Pradesh

114.

115.

116.

HZ

118.

119.
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AT I F o wEY PERifag 3
foreeh! ST it TEved T @ R
(a) e TshaTd
(b) e THEM
(c) had SEUT H
(d) SWih g} i

ﬁmﬁ%a%ﬁga—wwmm
1 I AL 2 2
(a) SITHUES TR
(b) WHW'WW

I
((8 qfed 39
T o ToRTT & UHT-sit Ryfror s
it ?
(@) IEH AHTETES
(b) HH TT3 ATFTES
(c) NS
(d) wRTEEH
?ﬁ?@@ﬁﬁ%&éﬁﬁmw
Y& o TRy 7
(@) FHt (b) Tef3ITE
(c) 3Nufy (d) wnf< _
ﬁw%@agﬁﬁaﬁqaﬁgﬁ%aﬁ%?
(a) WfET-udit
(b) S ENfEh—cenferey
(c) Mo =Maa-faefim A
(d) TSN Wa-rfehRR
ﬁw%ﬁ%ga@n‘iﬁﬂqmgﬁﬁ—mﬁ%?

(a) IR AT ITH-Fleh

(b) AHE I ST FATIROT - 75
(c) IR a1 Sfie sTvrRmTa -3
(d) fmefiure I Serm-mer Wy
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120.

121.

122.

123.

124.

125.

According to J.V. Narlikar which of
the following has so far NOT been
considered as a science ?

(a) Astrology

(b) Astronomy

(c) Cosmology

(d) Nanotechnology

Which of the following was invented by
Wilhelm Roentgen ?

(a) Radio

(b) X-Ray Machine

(c) Electric Bulb

(d) None of the above

‘Double-helical structure of DNA'was

given by whom ?

(a) Jacob and Monod
(b) Watson and Crick
(c) H.G. Khorana

(d) None of the above

Which of the following electro magnetic
radiations has the maximum energy ?
(@) Visible light

(b) Infrared rays

~ (c) Ultraviolet rays

(d) X-rays

Methane is emitted from which of the
following ? :
(a) Paddy fields only

(b) Termitary only

(c) Both from (a) and (b)

(d) None of the above

Which of the following elements is a
semi conductor ?
(a) Aluminium
(c) Silver

(b) Silicon
' (d) Lead

120
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(c) = (d) e
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126.

127

128.

129

130.

131.

0O

How many types of justice, liberty,
equality and fraternity in that order has
been mentioned in the preamble of
constitution of India ?

(@ 3,5,2 1 (b)=1-8,5 2
(e)-2,5,3:1 (d) 5:2,41, 3

Who was the UPA candidate for the
2017 Presidential election ?

(@) Ms. Meira Kumar

(b) Mr. Gopal Krishna Gandhi

(c) Dr. Karan Singh

(d) None of the above

Who was the first Vice-Chairman of the
NITI Ayog ?

(@) Arvind Panagariya

(b) Raghuram Rajan

(c) Chandrashekhara Subramanyam
(d) Rajiv Kumar

Which of the following is the first State in
India formed on the basis of languages ?
(@) Kerala

(b) Madhya Pradesh

(c) Andhra Pradesh

(d) Uttar Pradesh

Which of the following is an extra-
constitutional agency ?

(@) Union Public Service Commission
(b) Finance Commission

(c) Election Commission

(d) NITI Ayog

The recommendations of Sarkaria
Commission relate to which of the
following ?

(a) Distribution of revenue

(b) Power and functions of the
- President

() Membership of Parliament

(d) Centre-State relations

126.

127.

128.

129.

130.

131.
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 WRA % HagH $ y&arE § R vER

1 AT, TCPIT, T TS ST B 3eft
0 A Iga R g ?

(@) 85,2 1 (b) 1,3,5,2

) 2,5,3,1 d) 5,2,1,3

2017 o Trgufal gATe 3 37, .0, o St
aﬁ-rm%f?r -
(@) G AT FAR

(b) 1. TR FHwom Trief

(c) . = fg

(d) 39 | wrE T

AT ST =1 g IqTene (Sgafa)
HF o1 ?

() 3Rfer= TTfean

(b) TSH

(c) Wﬁ?&%@?

(d) TSha FaR :
Frfafea 3 - wra & w3 emum
W ] UEAT T o7 7

(a)

(b) e e

(c) 3Ty Jasr

(d) SR ¥ewW i
frmicifan & i v wReRm T d 7
() == < Qa1 AR '

(b) forr st

(c) Tafem smm

d) Hifq s

TUHTRET SR <t Feglera frefoRad §
Tored grafRg R 7

(a) TSI o1 ferawor

(b) T=gufa it iR v

(c) €EQ il gewar .

(d) H=-T Ty
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132.

133.

134.

135.

136,

137.

The Parliamentary form of Government
was first introduce in which country ?
(a) Great Britain (UK)

(b) Belgium

(c) France

(d) Switzerland

The Council of States has exclusive powers

in relation to which of the following ?

(a) To initiate proceedings for the
removal of the President

(b) To initiate proceedings for the

removal of a judges of the Supreme

Court

To recommend creation of a new

All India Service

None of the above

(©)
(d)

In which Part of the Constitution of
India we find the provisions relating to
citizenship ?
(@) Partl

(c) PartVil

(b) Partll
(d) PartIX

Parliament can Amend the provision
on official language of India under the
Constitution by

(a) a simple majority of its members
(b) 2/3"d majority

(c) 3/4t majority

(d) support of 1/3 of its members

After how many days of absence from
Parliament without permission can a
M.P. be disqualified ?

(a) 30 days (b) 60 days

(c) 90 days (d) 120 days

Who among the following Governor
Generals ridiculed congress as
representing only a ‘microscopic minority’
of people ?

(a) Lord Dufferin

(b) Lord Curzon

(c) Lord Minto

(d) Lord Lansdown

132.

133.

134.

137.
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T ¥ FRIGTE! AT
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(d) ST S TR
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(c) S VII (d) T IX
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(a) 30T (b) 60T
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(a) S SHA

(b) TS S
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138. What is Dhing Express ?

139.

140.

141.

142.

(@) Train between Dhing and Kolkata

(b) Nickname of Hima Das

(c) Express way between Palwal and
Kundli

(d) Popular Magazine

Mary Kom has recently (Sept. 2018)
been made brand ambassador of which
of the following ?

(a) Swachcha Bharat

(b) BSNL

(c) Beti Bachao Beti Padhao

(d) Project Khel

Supreme Courts judgement regarding
homosexuality is related to which of the
following ?

(@) Section 377 of IPC

(b) Article 377 of the Indian Constitution
(c) Article 277 of the Indian Constitution
(d) None of the above

Supersonic Cruise Missile BrahMos is
joint venture of which of the following ?
(@) Indian and Russia

(b) India and China

- (c) India and Israel

(d) None of the above

Andrez Manuel Lopez Obrador is
President elected in July 2018 of which
of the following country ?

(@) Venezuela (b) Argentina

(c) Mexico (d) Nicaragua

138.

139.

140.

141.

142.
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T T R ?

(a) @i qAT HicTehrar Ty WM
(b) Temm a8 1 esien I

(c) USTA dUT FUSe! & == TNy 9
C)BSIEIEERIEC

w0 im 1 T € F (Rearr 2018) fm
H ¥ FoRThT STUS Wt SR TR R ?
(a) =3 WA 1

(b) 1.TH.TH.TA. FI

(c) o2 =3 &t ygie)

(d) TSl @

A TeRaT e eife =Imers &1 oty
e 3 fored gralRm 2 7

(@) ¥1.3.9. & g/ 377

(b) R Hfaa™ 1 31g=a< 377

(c) WRdT™ | 1 3= 277

(d) 3WIE T A T

U g framse sweg fe i @
foherehT T Ty ST B 7 '
(a) RG aUT §F H
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143. On the basis of Panama Papers, the

144.

145.

146.

147.

Prime Minister of which of the following
countries was sentenced to 10 years in
jail for corruption ?

(a) Maldives

(b) Trinidad

(c) Pakistan

(d) None of the above

As per draft National Register of
Citizen (NRC) of July 2018, which of
the following States more than 40 lakh
illegal migrants were found ?

(a) Nagaland (b) Mizoram

(c) Assam (d) Tripura

Who of the following inaugurated
SAFAR (System of Air Quality and
Weather Forecasting) in July 2018 ?
(a) Ravishankar Prasad

(b) Piyush Goyal

(c) Dr. Harshvardhan

(d) None of the above

As per report released by U.S. Journal,
‘SCIENCE’ on 26" July, 2018, a massive
underground lake has been detected on
which planet ?
(a) Jupiter
(¢) Venus

(b) Saturn
(d) Mars

American President Donald Trump met
North Korean leader Kim Jong on 12

: June, 2018 in which country ?

(@) Malaysia
(c) Singapore

(b) Indonesia
(d) Thailand

143.

144.
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146.
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ARV : :

AT A€ % AR T, TSR &
frafafaa 2o | formss gummst =t
10 99 S <t =1 & T 7

(a) WIS,

(b) TfeE

(c) Tifer™

(d) ITRE A IS T

S[ETE 2018 H WERTRIG "¥e U A
ST (NRC) & g% % 1@ fohe T
T 40 TRE ¥ AT A9 RO IR TR E 7
(a) TNV (b) freim

(c) 3t&H (d) Trgu

ST 2018 H 1 8 § fohwreh g0 R
(ST T[UTET T HYEH JAIgAT SOTed)
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(a) TferTeR y8TE

(ORERRIES

(c) . g¥adq

(d) STURH | IS T

iR ufye, ‘B’ (SCIENCE) 31
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(a) FEEafd |
(c) YHW
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v 148. Match List — 1 with List - Il and select | 148. ¥t — I T=ft — 113 gitfra iRk | )

the correct answer from the codes given - Teu el 8 wet s w1 = Hifv |
below. W : : ‘I'ﬁ i
Let- | Lst-II (3Teror e % wgsTE (3R )
(Samudra Gupta’s (Their Kingdoms) > 3 W)
Contemporary Kings :
of South India) A. TTSH 1. 3,'5'5“"
A. Dhananjaya 1. Avamukta B. Hierre 2. el
B. Nilaraja 2. Kanchi C. 3U&H 3. FEAR
C. Ugrasena 3. Kusthalpura D. femopman 4. YTAFR
D. Vishnugopa 4. Palaka %z
Code : . AB C D
A-B C D ;
TEgT
) 2.1 4 3 E; T
c
@ 3.1 4 o -
@ 4-3 -2 | @) 4:3° 9 49
149. Which of the following centres related | 149. =% @ fig wwrar 3 Tl =-a 3=
to Indus Valley are situated in Uttar ST d R g ? :
? 2
Pradesh e o 21 & @ T I == i
Select the correct answer from the . Fefs
codes given below : ”' .
~|. Kalibanga :
II. Lothal ll. ST
Ill.  Alamgirpur V. g™
IV. Hulas
%®e:
Codes : - (@ I n,m v
(@) I, 11, 1, IV b) 1 I
B Ll (c) I, 1
) LA d) I, Iv
(d) 1, Iv (d) 1,
150. Which of the following institutions | 150. T3 & e ween Rrefr e & et
belonged to foreign trade ? off ?
(a) Sreni (b) Nagaram (a) Foft (b) TRH

(c) Nanadesis (d) Manigrama (c) TR (d) wfomm
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